More Solving
(1)

$$
\begin{aligned}
&(\sqrt{3 x-2})^{2}=(\sqrt{x-4})^{2} \\
& 3 x-2=x-4 \\
&-x \\
& \hline-x=-4 \\
&+2 x-2+2 \\
& \frac{2 x}{2}=\frac{-2}{2} \\
& x=x \text { regelutions }
\end{aligned}
$$

(3) $\sqrt{3 \times+2}=5 \sqrt{x-7}$

* (4) (
(5)

$$
\begin{array}{ll}
x^{2}=(\sqrt{42-x})^{2} & \text { Check! } \\
\begin{array}{cc}
x^{2}=42-x & (-7)=\sqrt{42-(-7)} \\
+x+x & -7=\sqrt{49} \\
\begin{array}{cc}
x^{2}+x=42 & -7 \neq 7 \\
-42-42 &
\end{array}
\end{array} .
\end{array}
$$

$$
\text { (6) }(\sqrt{11 x-24})^{2}=(x)^{2}
$$

$$
11 x-24=x^{2}
$$

$$
0=x^{2}-11 x+24
$$

$$
0=(x-8)(x-3)
$$

$$
\begin{aligned}
& \sqrt{x-1})^{2}=(4 \sqrt{x+1})^{2} \\
& x-1=16(x+1) \\
& x-1=16 x+16 \\
& -x \quad-x \\
& -1=15 x+16 \\
& \frac{-16 \quad-16}{-\frac{17}{15}=\frac{15 x}{15} \quad \text { Check! }} \\
& 15 \frac{15}{15} \sqrt{\left(-\frac{1}{15}\right)-1}=4\left(\frac{1-15}{15}\right)+1 \\
& \begin{array}{c}
\text { no real } \\
\text { nition } \\
\frac{-32}{15}
\end{array}=4 \sqrt{-\frac{2}{15}} \\
& \text { solution }
\end{aligned}
$$

$$
\begin{aligned}
& (\sqrt{3 x-17})^{2}=(\sqrt{x+21})^{2} \\
& 3 x-17=x+21 \\
& \frac{-x \quad-x}{2 x-17=21} \quad \frac{\text { check! }}{\sqrt{3(19)-17}=\sqrt{(19)+21}} \\
& \frac{+17+17}{\frac{4 x}{2}=\frac{38}{2}} \\
& \sqrt{57-17}=\sqrt{40} \\
& \sqrt{40}=\sqrt{40} \\
& \text { (2) } \\
& x=19
\end{aligned}
$$

$$
\begin{gathered}
x^{2}+x=42 \\
-42-42 \\
x^{2}+x-42=0 \\
(x+7)(x-6)=0 \\
x+7=0 \quad x-6=0
\end{gathered}
$$

$$
(6)=\sqrt{42-(6)}
$$

$$
6=\sqrt{36}
$$

$$
6=6 \mathrm{~V}
$$

$$
\begin{aligned}
& 0=x^{2}-11 x+24 \\
& 0=(x-8)(x-3) \\
& 0=x-8 \quad 0=x-3 \\
& +8+8 \quad+3=x \\
& +8=x \quad 3=x
\end{aligned}
$$

check!

$$
x=x=6
$$

$$
\begin{array}{rlrl}
\sqrt{1(18)-24} & =8 & \sqrt{11(3)-24} & =3 \\
\sqrt{88-24} & =8 & \sqrt{33-24} & =3 \\
\sqrt{64} & =8 & \sqrt{9} & =3 \\
8 & =8 \mathrm{~J} & 3 & =3 \mathrm{~J}
\end{array}
$$

(7)

$$
\begin{aligned}
& (2 x)^{2}=(\sqrt{1-3 x})^{2} \\
& 4 x^{2}=1-3 x \\
& 4 x^{2}+3 x-1=0 \\
& (4 x-1)(x+1)=0 \\
& 1 \\
& 4 x-1=0 \quad x+1=0 \\
& +1+1 \quad x=-k \\
& \frac{4 x=1}{4}=\frac{1}{4} \\
& x=\frac{1}{4}
\end{aligned}
$$

check!
(8)

$$
2\left(\frac{1}{4}\right)=\sqrt{1-3\left(\frac{1}{4}\right)}
$$

$$
\frac{2}{4}=\sqrt{1-\frac{3}{4}}
$$

$$
\frac{1}{2}=\sqrt{\frac{1}{4}}
$$

$$
\frac{1}{2}=\frac{\sqrt{1}}{\sqrt{4}}=\frac{1}{2}
$$

$$
\begin{aligned}
& 2(-1)=\sqrt{1-3(-1)} \\
&-2=\sqrt{4} \\
&-2 \neq 2
\end{aligned}
$$

$$
\begin{aligned}
&(\sqrt{2-x})^{2}=(x+4)^{2} \\
& 2-x=x^{2}+8 x+16 \\
&-2+x \quad x-2 \\
& 0=x^{2}+9 x+14 \\
& 0=(x+7)(x+2) \\
& 1 \quad \\
& 0=x+7 \quad 0=x+2 \\
& x=T \quad x=-2
\end{aligned}
$$

Check!

$$
\begin{array}{cc}
\sqrt{2-(-7)}=-7+4 & \sqrt{2-(-2)}=-2+4 \\
\sqrt{9}=-3 & \sqrt{4}=2 \\
3 \neq-3 & 2=2
\end{array}
$$

(9)

$$
\begin{gathered}
(2-\sqrt{x+1})^{2}=(\sqrt{x+3})^{2} \\
5-4 \sqrt{x+1}+x=x+3 \\
-x x \\
-x-4 \sqrt{x+1}=3 \\
-5 \\
\frac{-5}{-\frac{4 \sqrt{x+1}}{-4}=}=\frac{-2}{-4} \\
(\sqrt{x+1})^{2}=\left(\frac{1}{2}\right)^{2}
\end{gathered}
$$

Check!

$$
\begin{aligned}
& \text { Check! } \\
& 2-\sqrt{-\frac{3}{4}+1}=\sqrt{-\frac{3}{4}+3}
\end{aligned}
$$

$$
x+2 \sqrt{x}+2 \sqrt{x}+4=x-1
$$

$$
\begin{gathered}
x+4 \sqrt{x}+4=x-1 \\
-1 x
\end{gathered}
$$

$$
\begin{aligned}
4 \sqrt{x}+4 & =-1 \\
-4 & -4
\end{aligned}
$$

$$
\frac{-4-4}{4 \sqrt{x}}=-5
$$

$$
\begin{array}{r}
\sqrt{\frac{25}{16}}+2=\sqrt{\frac{25}{16}-1} \\
\frac{5}{4}+\frac{8}{4}=\sqrt{\frac{25}{16}-\frac{16}{16}} \\
\frac{13}{4}=\sqrt{\frac{9}{16}}
\end{array}
$$

$13+3$

$$
\begin{array}{cccc}
(\sqrt{x+1})^{2}=\left(\frac{1}{2}\right)^{2} & 2-\sqrt{\frac{1}{4}}=\sqrt{\frac{9}{4}} & \frac{4 \sqrt{x}}{4}=\frac{-5}{4} & \frac{13}{4} \neq \frac{3}{4} \\
x+1=\frac{1}{4} & 2-\frac{1}{2}=\frac{3}{2} & (\sqrt{x})^{2}=\left(\frac{5}{4}\right)^{2} & \\
\frac{1}{-1} & \frac{4}{2}-\frac{1}{2}=\frac{3}{2} & x=\frac{25}{16} & \text { no } \\
x=-\frac{3}{4} & \frac{3}{2}=\frac{3}{2} \sqrt{2} & \text { solution }
\end{array}
$$

